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EEC-12 : INDIAN ECONOMIC
DEVELOPMENT SINCE INDEPENDENCE

Time : 3 hours Maximum Marks : 100

Note :  Attempt questions from each section as per instructions
given under each section.

SECTION - A
Long-Answer Questions
Answer any two questions from this section. 2x20=40

1. What do you mean by structural changes in an
economy ? Also examine the changes that have
taken place in the structure of the Indian economy
since 1950-51.

2. Discuss the growth of population in India since
1951. What are the factors influencing growth
pattern of population in India ?

3. Analyse the importance of credit in the
development of agriculture. How does the role
of credit change with a shift from traditional to
modern agriculture ?
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4. How doindustrial conflicts affect the workers and
the economy ? What arrangements have been
made to settle the industrial disputes in India ?
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SECTION-B

Medium answer questions

Answer any four questions from the section: 4x12=48

5. In what way is the concept of carrying capacity
significant to achieve sustainable development ?

6.  Discuss, in brief, the important reasons due to
which the operation of MNCs are favoured but
at the same time feared by a developing economy.

7. Highlight the impact of economic reforms on
Indian economy.

8.  Discuss the trends in India’s Balance of Payments
since 1990. Explain the reasons of continued
deficit in India’s balance of payments.

9.  How is unemployment measured in India?
Explain.

10.  Why is it necessary to have an agricultural price
policy ? Indicate the functions of a sound
agricultural price policy.
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SECTION-C
(Short Answer Questions)

Answer both the questions from this section, as
directed. 2x6=12

11. Distinguish between any two of the following
(a) Organised and Unorganised sectors
(b) Nehruvian and Gandhian approach to
development
(c) Economic infrastructure and Social

infrastructure.

12. Explain any two of the following concepts.
(a) Disguised Unemployment
(b) Terms of trade
(c) Non-tariff barriers.
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